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�D>7D4<<4 E>EF46?5=4 =4 >E=>65 $��% B� ?> =4?D46?5=<N 08.03.01 

«%FD><F5?LEF6>» ?>  4<EF<??<=4<,  O6?ONM<<EO 547>6O<< 4?O >5GG5=<O 6 

<47<EFD4FGD5 ?>  =4?D46?5=<N 08.04.01 «%FD><F5?LEF6>»  ?D>7D4<<4< 
%<EF5<O >55E?5G5=<O <<>D>>?<<4F4 744=<= < E>>DG65=<=; 
&5E=<G5E>4O M>E??G4F4F<O < D5>>=EFDG>F<O 744=<= < <=65=5D=OE E<EF5<; 

�>=FD>?L < =447>D 6 EFD><F5?LEF65; 

%<EF5<O F5??>747>E=4565=<O. 

I. �5D5G5=L M?5<5=F>6 E>45D64=<O, 

?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<< 

 

$4745? 1. «&5??>747>E=4565=<5 E >E=>64<< F5??>F5E=<><» 

1. &5D<>4<=4<<G5E>4O E<EF5<4 < D45>G55 F5?>. �4D4<5FDO < GD46=5=<5 

E>EF>O=<O. %<5E< <454?L=OE 747>6 [1,2]. 

2. &5??>5<>>EFL <454?L=OE 747>6 < <E E<5E5= [1,2]. 

3. �5D6O= 74>>= F5D<>4<=4<<><. -=F4?L?<O. BOD465=<5 ?5D6>7> 74>>=4 

F5D<>4<=4<<>< G5D57 M=F4?L?<N. BF>D>= 74>>= F5D<>4<=4<<><. -=FD>?<O [1,2]. 

4. &5D<>4<=4<<G5E><5 ?D>F5EEO: GD46=5=<5 ?D>F5EE4; 7D4D<G5E>>5 

<7>5D465=<5 6 4<47D4<<4E; D45>F4, E>65DL45<4O D45>G<< F5?>< 6 ?D>F5EE5 [1,2]. 

5. &5D<>4<=4<<G5E><= 4=4?<7 ?D>F5EE4 ?D><76>4EF64 6>4O=>7> ?4D4. I-s 

4<47D4<<4 6>4O=>7> ?4D4 [1,2]. 

6. �>=OF<5 > >DG7>6>< ?D>F5EE5 (F<>?5). �DO<O5 < >5D4F=O5 F<>?O [1,2]. 

7. �4D>E<?>6O5 GEF4=>6><: ?D<=F<?<4?L=4O EE5<4; F<>? $5=><=4, F<>? �4D=> 

[1,2]. 

8. �47>FGD5<==O5 GEF4=>6><: ?D<=F<?<4?L=4O EE5<4; F<>?O 747>FGD5<==OE 

GEF4=>6>> [1,2]. 

9. �E=>6=O5 6<4O F5??>>5<5=4. �4>>= $GDL5. �>MDD<F<5=F 

F5??>?D>6>4=>EF<. �<DD5D5=F<4?L=>5 GD46=5=<5 F5??>?D>6>4=>EF< [1,2]. 

10. %F4F<>=4D=4O F5??>?D>6>4=>EFL G5D57 >4=>E?>==GN < <=>7>E?>==GN 

??>E>GN EF5=>G. %F4F<>=4D=4O F5??>?D>6>4=>EFL G5D57 >4=>E?>==GN < 

<=>7>E?>==GN F<?<=4D<G5E>GN EF5=>G [1,2]. 

11. �5EF4F<>=4D=O5 ?D>F5EEO F5??>?D>6>4=>EF<. �5EF4F<>=4D=4O 

F5??>?D>6>4=>EFL =5>7D4=<G5==>= ??4EF<=O. �?D545?5=<5 >>?<G5EF64 F5??4, 

>F44==>7> ??4EF<=>= 6 ?D>F5EE5 >E?4645=<O. �5EF4F<>=4D=4O F5??>?D>6>4=>EFL 

55E>>=5G=>7> 4?<==>7> F<?<=4D4. �?D545?5=<5 >>?<G5EF64 F5??4, >F44==>7> 

F<?<=4D>< 6 ?D>F5EE5 >E?4645=<O. �E?4645=<5 (=47D564=<5) F5? >>=5G=OE 

D47<5D>6. $57G?OD=O= D56<< >E?4645=<O (=47D564) F5?. �D<5?<65==O5 <5F>4O 

D5L5=<O 7444G F5??>?D>6>4=>EF<. '<E?5==O5 <5F>4O D5L5=<O 7444G 

F5??>?D>6>4=>EF< [1,2]. 
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12. �E=>6=>= 74>>= >>=65>F<6=>7> F5??>>5<5=4. �D<F5D<< < >D<F5D<4?L=O5 

GD46=5=<O. �>DO4>> D4EG5F4 >>MDD<F<5=F4 F5??>>F44G< [1,2]. 

13. &5??>>5<5= <7?GG5=<5<. �E=>6=O5 74>>=O F5??>6>7> <7?GG5=<O. �4>>= 

�?4=>4. �4>>= %F5D4=4-�>?LF<4=4. �4>>= �<DE7>D4. �4>>= �4<55DF4. �GG<EFO= 

F5??>>5<5= <564G F5?4<<. &5??>>5<5= <7?GG5=<5< ?D< =4?<G<< M>D4=>6. 

�7?GG5=<5 <564G F5?>< < >5>?>G>>= [1,2]. 

14. &5??>?5D544G4 G5D57 >4=>E?>==GN < <=>7>E?>==GN ??>E>GN EF5=>G. 

&5??>?5D544G4 G5D57 >4=>E?>==GN < <=>7>E?>==GN F<?<=4D<G5E>GN EF5=>G. 

&5??>>5<5==O5 4??4D4FO [1,2]. 

15. &5??>D<>4F<O < F5=FD4?<7>64==>5 F5??>E=4565=<5. %E5<4 &-& < 

D4=>==>= >>F5?L=>=, >E=>6=>5 < 6E?><>74F5?L=>5 >5>DG4>64=<5 [3]. 

16. B>4O=O5 E<EF5<O F5??>E=4565=<O: ?D<=F<?<4?L=O5 EE5<O; 

7<4D46?<G5E><= D4EG5F F5??>6OE E5F5=; ?L57><5FD<G5E><5 7D4D<><. �4D>6O5 

E<EF5<O F5??>E=4565=<O: ?D<=F<?<4?L=O5 EE5<O < >5?4EF< ?D<<5=5=<O [2,4]. 

17. %E5<O, >>=EFDG>F<< < >5>DG4>64=<5 F5??>6OE E5F5=. -?5<5=FO 

F5??>?D>6>4>6. %?>E>5O ?D>>?44>< F5??>6OE E5F5=. �>=EFDG>F<< F5??><7>?OF<<. 

�4M<F4 FDG5>?D>6>4>6 >F >>DD>7<< [2,4]. 

18. �E=>6=O5 E6>=EF64 7>DNG<E 747>6, <E?>?L7G5<OE 4?O 747>E=4565=<O. 

�5D45>F>4 < <47<EFD4?L=O= FD4=E?>DF 7474. %E5<O 7>D>4E><E E<EF5< 

747>E=4565=<O. �>=EFDG>F<<, >5>DG4>64=<5 < GEFD>=EF6> 747>?D>6>4>6. 

�47>D57G?OF>D=O5 ?G=>FO. �<4D46?<G5E><= D4EG5F 747>6OE E5F5=. �4M<F4 

747>?D>6>4>6 >F >>DD>7<< [5,7]. 

19. �4456=>EFL 747>6OE < F5??>6OE E5F5=, >E=>6=O5 ?>=OF<O < >D<F5D<< 

=4456=>EF<. �E=>6=O5 >D<F5D<< >F5=>< F5E=<>>-M>>=><<G5E>>= MDD5>F<6=>EF< 

E<EF5< F5??>- < 747>E=4565=<O. �>64D=4O 557>?4E=>EFL E<EF5< F5??>- < 

747>E=4565=<O [2, 4-7]. 

20. ->>=><<G5E>4O F5?5E>>5D47=>EFL < F5E=<G5E><5 6>7<>6=>EF< 

<E?>?L7>64=<O =5FD44<F<>==OE < 6F>D<G=OE M=5D75F<G5E><E D5EGDE>6 4?O 

F5??>E=4565=<O [2,4]. 

$4745? 2. «�>4>E=4565=<5 < 6>4>>F6545=<5 E >E=>64<< 7<4D46?<><» 

1. �E=>6=O5 ?>=OF<O 7<4D46?<><: 446?5=<5, =4?>D, D4EE>4, E>>D>EFL [11,12]. 

2. B<4O FDG5>?D>6>4>6: =4?>D=O5, 557=4?>D=O5. �E=>6O 7<4D46?<G5E>>7> 

D4EG5F4 FDG5 [11,12]. 
3. �>F5D< =4?>D4. �5EF=O5 < ?<=5==O5 E>?D>F<6?5=<O [11,12]. 

4. %<EF5<O < EE5<O 6>4>E=4565=<O =4E5?5==>7> ?G=>F4, <E >E=>6=O5 

M?5<5=FO [8,12]. 
5. B>4>E=4565=<5 ?D><?D54?D<OF<= [13]. 
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6. �4DG6=4O 6>4>?D>6>4=4O E5FL (EE5<O FD4EE<D>6><, M?5<5=FO, FDG5O < 

4D<4FGD4, >E=>6=O5 44==O5 4?O ?D>5>F<D>64=<O). &D55>64=<O ?>64D=>= 

557>?4E=>EF< > =4DG6=><G ?D>F<6>?>64D=><G 6>4>E=4565=<N [8,12,14]. 

7. �EF>G=<>< 6>4>E=4565=<O. B>4>745>D=O5 E>>DG65=<O <7 ?>475<=OE < 

?>65DE=>EF=OE <EF>G=<>>6 [8,12,14]. 

8. &D4=E?>DF<D>64=<5 6<4>>EF5=. �?4EE<D<>4F<O < >E=>6=O5 ?4D4<5FDO 

=4E>E>6. &D55>64=<O ?>64D=>= 557>?4E=>EF< > 6>4>?D>6>4=O< E5FO< < 

E>>DG65=<O< =4 =<E [11,12,14,15]. 

9. &5=FD>556=O5 =4E>EO (GEFD>=EF6>, ?D<=F<? D45>FO, D45>G<5 

E4D4>F5D<EF<><) [11,12]. 
10. �5F>4O, >E=>6=O5 E>>DG65=<O >G<EF>< < >55774D46<64=<O 6>4O [12]. 

11. $5475=F=>5 E>7O=EF6> (=47=4G5=<5, M?5<5=FO, FD55>64=<O > <4F5D<4?4< 

E>>DG65=<=, FD55>64=<O > <4F5D<4?4< E5F5= < E>>DG65=<=) [8,9,12]. 

12. %E5<4 >4=4?<74F<< =4E5?5==>7> ?G=>F4 < 5ë >E=>6=O5 M?5<5=FO [9,12]. 

13. �?D545?5=<5 D4EG5F=OE D4EE>4>6, E>>D>EF<, G>?>=O, 7?G5<=4 74?>65=<O 

>4=4?<74F<>==>= E5F< [9,12]. 
14. 'EFD>=EF6> >4=4?<74F<>==>= E5F<. &DG5O. �>?>4FO [9,12]. 

15. �>64564O >4=4?<74F<>==4O E5FL (=47=4G5=<5, GEFD>=EF6>, FD55>64=<O > 

<4F5D<4?4< E5F5= < E>>DG65=<=) [9,12]. 
16. �5D5>4G>4 EF>G=OE 6>4. �4=4?<74F<>==O5 =4E>E=O5 EF4=F<< [9,12]. 

17. %>EF46 747DO7=5=<= < <5F>4O < EE5<O >G<EF>< EF>G=OE 6>4 [9,12]. 

18. %>>DG65=<O <5E4=<G5E>>= >G<EF>< EF>G=OE 6>4, FD55>64=<O > 

<4F5D<4?4< E>>DG65=<= [9,12]. 

19. %>>DG65=<O 5<>?>7<G5E>>= >G<EF>< EF>G=OE 6>4, FD55>64=<O > 

<4F5D<4?4< E>>DG65=<= [9,12]. 

20. %>>DG65=<O >5D45>F>< >E44>>6. ->>?>7<G5E><5 FD55>64=<O [9,12]. 

$4745? 3. «&5E=<G5E>4O M>E??G4F4F<O < D5>>=EFDG>F<= 744=<= < 

E>>DG65=<=» 

1. 'E?>6<O 674<<>E6O7< MF4?>6 ?D>5>F<D>64=<O, EFD><F5?LEF64 < 

M>E??G4F4F<< 744=<= < E>>DG65=<= [16,17]. 

2. ->E??G4F4F<>==O5 FD55>64=<O, ?D54NO6?O5<O5 > EFD><F5?L=O< 

>>=EFDG>F<O<, <=65=5D=O< E<EF5<4< < >5>DG4>64=<N 744=<= < E>>DG65=<= 

[22,23]. 

3. �F>47O =5EGM<E < >7D4644NM<E >>=EFDG>F<= 744=<=: >?4EE<D<>4F<O, 

?D545?L=>5 E>EF>O=<5 [23,24]. 

4. �D545?L=>5 M>E??G4F4F<>==>5 E>EF>O=<5 >>=EFDG>F<= 744=<=. %D>>< 

E?G65O >>=EFDG>F<= < <4F5D<4?>6 [22-24]. 
5. $<7<G5E><= <7=>E 744=<=. �5F>4O >?D545?5=<O [22-24]. 

6. �>D4?L=O= <7=>E. �5F>4O >?D545?5=<O <7=>E4 ?5D6>7> < 6F>D>7> D>44 

[22-24]. 
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7. %<EF5<4 F5E=<G5E>>= M>E??G4F4F<< 744=<=, E>>DG65=<= < 7>D>4E><E F5D- 

D<F>D<=. %>EF46 < 674<<>45=EF6<5 5ë M?5<5=F>6 [22-24]. 
8. &5E=<G5E>>5 >5E?G6<64=<5 744=<=: 6<4O < E>EF46 D45>F [22-24]. 

9. �E<>FDO 744=<= < E>>DG65=<= < <E M?5<5=F>6: 6<4O >E<>FD>6 < ED>>< 

?D>6545=<O [22-24]. 

10. %<EF5<4 D5<>=F>6 744=<= < <E ??4=<D>64=<5: F5?< < 7444G<, EFD4F57<O, 

ED>>< ?D>6545=<O. &5>GM<= < >4?<F4?L=O= D5<>=FO [22-24]. 

11. �5F>4O < ED54EF64 4<47=>EF<>< F5E=<G5E>>7> E>EF>O=<O 744=<=, 

>>=EFDG>F<= < <=65=5D=OE E<EF5< [19-24]. 

12. &5E=<G5E>4O M>E??G4F4F<O >E=>64=<= < DG=44<5=F>6 744=<=: >F>47O < 

?>6D5645=<O, E?>E>5O GE<?5=<O [22-24]. 

13. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F EF5= < M?5<5=F>6 D4E44>6: >E=>6=O5 

45D5>FO < E?>E>5O <E GEFD4=5=<O [22-24]. 

14. &5E=<G5E>4O M>E??G4F4F<O ?5D5>DOF<=, ?>?>6 < ?5D57>D>4>> 744=<=: 

4<47=>EF<>4, 45D5>FO < >F>47O, <5F>4O GE<?5=<O < D5<>=F4 [22-24]. 

15. $5>>=EFDG>F<O < D5<>=F >DOL < G5D44G=OE ?><5M5=<= 744=<=. 

�E>55==>EF< <E M>E??G4F4F<< [22-24]. 

16. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F E<EF5< >F>??5=<O. �E=>6=O5 

45D5>FO < E?>E>5O <E GEFD4=5=<O. �>47>F>6>4 > >F>?<F5?L=><G E57>=G [20, 21]. 

17. ->E??G4F4F<O E<EF5< E>?>4=>7> < 7>DOG57> 6>4>E=4565=<O < 

6>4>>F6545=<O: >E=>6=O5 7444G< < >E>55==>EF< [20, 21]. 

18. &5E=<G5E>>5 >5E?G6<64=<5 E<EF5< 65=F<?OF<<. %D>>< >E<>FD>6 < 

?D>65D>> M?5<5=F>6 E<EF5< 65=F<?OF<<. �D>65D>4 D4EE>44 6>74GE4, G44?O5<>7> <7 

?><5M5=<= [19-21]. 

19. &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F E<EF5< 747>E=4565=<O. �D<ë<>4 

B��� 6 M>E??G4F4F<N. �D46<?4 557>?4E=>EF< 6 747>6>< E>7O=EF65, ?5D<>4<G=>EFL 

��$ [21]. 

20. &5E=<G5E>>5 >5E?G6<64=<5 E?5F<4?L=>7> >5>DG4>64=<O 744=<= < 

E>>DG65=<=. �E>55==>EF< >5E?G6<64=<O ?<DF>6 < ?D>F<6>?>64D=>7> 

>5>DG4>64=<O [22-24]. 

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

�=4FL: 

- E>>F65FEF6<O D47D454FO645<OE ?D>5>F>6 < F5E=<G5E>>= 4>>G<5=F4F<< 

7444=<N, EF4=44DF4<, =>D<4< < ?D46<?4<, F5E=<G5E><< GE?>6<O< < 4DG7<< 

<E?>?=<F5?L=O< 4>>G<5=F4<, F5E=<G5E>GN < ?D46>6GN M>E?5DF<7G ?D>5>F>6 

EFD><F5?LEF64, D5<>=F4 < D5>>=EFDG>F<< 744=<=, E>>DG65=<= < <E >><??5>E>6; 

- D45>FO ?> 4>6>4>5 < >E6>5=<N F5E=>?>7<G5E><E ?D>F5EE>6 6>76545=<O, 

D5<>=F4, D5>>=EFDG>F<<, M>E??G4F4F<< < >5E?G6<64=<N EFD><F5?L=OE >5N5>F>6 < 

>5N5>F>6 6<?<M=>->><<G=4?L=>7> E>7O=EF64, <=65=5D=OE E5F5=; 
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- <5DO M>>?>7<G5E>>= 557>?4E=>EF<, M>>?>7<G5E>4O >FG5F=>EFL 6 

EFD><F5?LEF65 < 6<?<M=>->><<G=4?L=>= ED5D5; 

- <5DO ?> M=5D7>E55D565=<N < ?>6OL5=<N M=5D75F<G5E>>= MDD5>F<6=>EF< 

744=<=, EFD>5=<= < E>>DG65=<=; 

- >D74=<74F<N < 6O?>?=5=<5 EFD><F5?L=>-<>=F46=OE D45>F, D45>F ?> 

M>E??G4F4F<<, >5E?G6<64=<N, D5<>=FG < D5>>=EFDG>F<< 744=<=, E>>DG65=<=, 

E5F5= < >5N5>F>6 6<?<M=>->><<G=4?L=>7> E>7O=EF64; 

- >D74=<74F<N ?>47>F>6>< EFD><F5?L=OE >5N5>F>6 < >5N5>F>6 6<?<M=>- 

>><<G=4?L=>7> E>7O=EF64 > E57>==>= M>E??G4F4F<<; 
y<emL: 

- E>5<D4FL < E<EF5<4F<7<D>64FL <=D>D<4F<>==O5 < <EE>4=O5 44==O5 4?O 

?D>5>F<D>64=<O 744=<=, E>>DG65=<=, >><??5>E>6, FD4=E?>DF=>= <=DD4EFDG>FGDO, 

<=65=5D=OE E<EF5< < >5>DG4>64=<O, ??4=<D>6>< < 74EFD>=>< =4E5?5==OE <5EF; 

- ?D>6>4<FL ?D5464D<F5?L=>5 F5E=<>>-M>>=><<G5E>>5 >5>E=>64=<5 

?D>5>F=OE D5L5=<=, D47D454FO64FL ?D>5>F=GN < D45>GGN F5E=<G5E>GN 

4>>G<5=F4F<N, >D>D<?OFL 74>>=G5==O5 ?D>5>F=>->>=EFDG>F>DE><5 D45>FO, 

>>=FD>?<D>64FL E>>F65FEF6<5 D47D454FO645<OE ?D>5>F>6 < F5E=<G5E>>= 

4>>G<5=F4F<< 7444=<N, EF4=44DF4<, F5E=<G5E><< GE?>6<O< < 4DG7<< =>D<4F<6=O< 

4>>G<5=F4<; 

- >EGM5EF6?OFL < >D74=<7>6O64FL F5E=<G5E>GN M>E??G4F4F<N 744=<=, 

E>>DG65=<=, E5F5= >5N5>F>6 6<?<M=>->><<G=4?L=>7> E>7O=EF64, >55E?5G<64FL 

=4456=>EFL, 557>?4E=>EFL < MDD5>F<6=>EFL <E D45>FO; 
6?44emL: 

- <5F>44<< ?D>6545=<O <=65=5D=OE <7OE>4=<=, F5E=>?>7<5= 

?D>5>F<D>64=<O 45F4?5= < >>=EFDG>F<= 6 E>>F65FEF6<< E F5E=<G5E><< 7444=<5< E 

<E?>?L7>64=<5< G=<65DE4?L=OE < E?5F<4?<7<D>64==OE ?D>7D4<<=>- 

6OG<E?<F5?L=OE >><??5>E>6 < E<EF5< 46F><4F<7<D>64==OE ?D>5>F<D>64=<O; 

- F5E=>?>7<5=, <5F>44<< 4>6>4>< < >E6>5=<O F5E=>?>7<G5E><E ?D>F5EE>6 

EFD><F5?L=>7> ?D><76>4EF64, M>E??G4F4F<<, >5E?G6<64=<O 744=<=, E>>DG65=<=, 

<=65=5D=OE E<EF5<; 

- <5F>44<< <>=<F>D<=74 < >F5=>< F5E=<G5E>>7> E>EF>O=<O < >EF4F>G=>7> 

D5EGDE4 EFD><F5?L=OE >5N5>F>6 < >5N5>F>6 6<?<M=>->><<G=4?L=>7> E>7O=EF64, 

EFD><F5?L=>7>, F5E=>?>7<G5E>>7> < 6<?<M=>->><<G=4?L=>7> >5>DG4>64=<O. 

III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 

BEFG?<F5?L=>5 <E?OF4=<5 6 <47<EFD4FGDG ?D>E>4<F 6 6<45 ?<EL<5==>7> 

F5EF<D>64=<O. $57G?LF4FO F5EF<D>64=<O >F5=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 15 F5EF>6OE 6>?D>E>6. �>?D>EO 45?OFEO ?> 

>4F57>D<O< E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 

>464O=)  <  5  6>?D>E>6  >4F57>D<<  B  (>F5=<64NFEO  ?>  10  54??>6  >464O=). 
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%G<<4D=4O >F5=>4 =5 ?D56OL45F 100 54??>6.  

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 2 4>445<<G5E><E G4E4 (90 

<<=GF). 

IV. �D<<5DO F5EF>6OE 7444=<= 

�444=<O >4F57>D<< � 

 

1. �D< >4G5EF65==>< D57G?<D>64=<< >F?GE>4 F5??>FO ?>FD55<F5?O< 

?4D4<5FD>< D57G?<D>64=<O O6?O5FEO: 

4) D4EE>4 E5F56>= 6>4O 

5) D4EE>4 < F5<?5D4FGD4 E5F56>= 6>4O 

6) F5<?5D4FGD4 E5F56>= 6>4O 
7) 446?5=<5 E5F56>= 6>4O 

2. �<4D46?<G5E><= D4EG5F 747>?D>6>44 =5>5E>4<< 4?O & 

4)  >?D545?5=<O 6O7>>EF< < E>>D>EF< 7474 

5) >?D545?5=<O 4<4<5FD>6 747>?D>6>4>6, >55E?5G<64NM<E ?D>?GE> 

=5>5E>4<<OE >5N5<>6 7474 ?D< 4>?GEF<<OE ?5D5?444E 446?5=<O 

6)  >?D545?5=<O D4EE>4>6 7474 < G45?L=OE ?>F5DL 446?5=<O 

7) >?D545?5=<O D4EE>4>6 < E>>D>EF< 7474 

3. �?>M44L 6<6>7> E5G5=<O >DG7?>= =4?>D=>= FDG5O D44<GE>< 0,1 < D46=4 

4) 3,14 <2; 

5) 0,314 <2; 

6) 0,0314 <2; 

7) 7,85.10-3 <2. 
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4. �?D545?<FL 75><5FD<G5E>GN 6OE>FG ?>44G< 6>4O 6 12-MF46=O= 6<?>= 4><, 

>5>DG4>64==O= F5=FD4?<7>64==>= E<EF5<>= 6>4>E=4565=<O E =<6=5= D476>4>>=, 

64==O<<, 5E?< >F<5F>4 75<?< >>>?> >>?>4F4 7>D>4E>>= 6>4>?D>6>4=>= E5F< Z75<.B1 

= 102 <, 7?G5<=4 ?D><5D74=<O h?D.=1,5 <, >F<5F>4 ?>?4 ?5D6>7> MF464 Z?>? I MF.= 104 

<. 

4) �75><.= 37 <; 

5) �75><.= 50 <; 

6) �75><.= 39,3<; 

7) �75><.= 42,3 <. 

 

5. �?D545?<FL FD55G5<O= =4?>D 4?O E<EF5<O 6=GFD5==57> E>7O=EF65==>- 

?<FL56>7> 6>4>?D>6>44 5-MF46=>7> 6<?>7> 4><4 < =4?>D ?>6OE<F5?L=>= GEF4=>6>< 

�=4E. (5E?< >=4 =5>5E>4<<4). �4D4=F<D>64==O= =4?>D 6 7>D>4E>>= 6>4>?D>6>4=>= 

E5F< �7D.= 10 < 6>4. EF. 

4) �FD.= 26 <; �=4E.= 19 < 

5) �FD.= 10 <;=4E>E=4O GEF4=>6>4 =5 FD55G5FEO 

6) �FD.= 39 <;�=4E.= 29 < 

7) �FD.= 26 <.;�=4E.= 50 <. 

6. �5 GEFD4<64NF 65=F<?OF<>==O5 >4=4?O 6 =4DG6=OE EF5=4E <7-74: 

4)  ?>6OL5==OE F5??>?>F5DL 

5) ?D>G=>EF< >>=EFDG>F<< EF5=O 

6)  6> <75564=<5 >>=45=E4F<< 6>4O=OE ?4D>6 =4 EF5=>4E >4=4?>6 

7) FDG4=>EF< D5<>=F4 < M>E??G4F4F<< 

7. B E<EF5<4E 6>4O=>7> >F>??5=<O 6>4>EFDG==O= M?564F>D E?G6<F 4?O: 

4)  4?O E=<65=<O 446?5=<O 6 E<EF5<5 >F>??5=<O 

5) 4?O E=<65=<O F5<?5D4FGDO E5F56>= 6>4O 

6) 4?O E<5L5=<O 6OE>>>F5<?5D4FGD=>= 6>4O E >E?4645==>= 6>4>= <7 

E<EF5<O >F>??5=<O 

7) 4?O E<5L5=<O 6OE>>>F5<?5D4FGD=>= 6>4O <7 E<EF5<O >F>??5=<O < 

>55E?5G5=<O F<D>G?OF<< 6>4O 6 E<EF5<5 >F>??5=<O 

8. �4>>= <5F>4 >D74=<74F<< ?D><76>4EF65==>7> ?D>F5EE4 O6?O5FEO =4<5>?55 

MDD5>F<6=O<: 
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2  D2 = 8 

1  D1 = 2 

 
4) ?>F>G=O=; 

5) ?4D4??5?L=O=; 

6)  ?>E?54>64F5?L=O=; 

7) E<5L4==O=. 

 

9. $4EG5F ?>FD55=>EF< 6 M=5D75F<G5E><E D5EGDE4E < 6>45 ?D><76>4<FEO =4 

>E=>65 >4?5=44D=>7> ??4=4 EFD><F5?LEF64 4?O ?5D<>44: 

 

4) E =4<5>?55 <=F5=E<6=O< ?>FD55?5=<5<; 

5) E =4<<5=55 <=F5=E<6=O< ?>FD55?5=<5<; 

6) E> ED54=<< ?>FD55?5=<5<; 
7) ?> 65?4=<N 74>47G<>4. 

10. �F> GF65D6445F EFD>=75=??4= (%��), D47D45>F4==O= 6 E>EF465 ��%: 

 
4) ?>4DO4G<>; 

5) ?D>5>F<D>6M<>; 

6) 74>47G<>; 
7) 6E5. 

�444=<O >4F57>D<< B 

1. '5<G D46=4 F5<?5D4FGD4 <454?L=>7> 7474 t2 6 ?D>F5EE5 1-2 t1 = 120 o%? 

 
p 

��4 

 

 

��4 

v 

 

4) 480 >% 

5) 120 >% 
6) 1299 >% 

7) 960 >% 

2. �4 >4>>< <<=<<4?L=>< D4EEF>O=<< >F 744=<O <>65F ?D>E>4<FL >EL 

54L5==>7> >D4=4? ,<D<=4 >>?5< >D4=4 E>EF46?O5F =8 <, 4?<=4 ?>?GL?4?O L =1,4 

<, 5>>>6>5 ??5G> 54??4EF=>7> E?>O (200 <<), 6OE>F4 >F>>E4 Ii=0,2 <, >F=>E<F5?L=O= 

>F>>E 1:1,5 < D4EEF>O=<5 557>?4E=>EF< 1=0,7 

4) 5,9 <; 
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5) 1,1 <; 

6) 10,0 <; 

7) 4,5 <. 

3. �<>FGNM4O F>G>4 ?D< D4EGëF5 6=GFD5==5= 6>4>?D>6>4=>= E5F< MF>: 

4) F>G>4 ?>4>?NG5=<O 6=GFD5==5= 6>4>?D>6>4=>= E5F< > =4DG6=>= 

6>4>?D>6>4=>= E5F<. 

5) F>G>4 6=GFD5==5= 6>4>?D>6>4=>= E5F< =4<5>?55 G44?5==4O < 6OE>>> 

D4E?>?>65==4O >F=>E<F5?L=> 66>44 6 744=<5. 

6) >E=>64=<5 6>4>?D>6>4=>7> EF>O>4 =4<5>?55 G44?5==>7> >F 66>44. 

7) F>G>4, =4E>4OM4OEO =4 <47<EFD4?L=>= ?<=<< 6 E5D54<=5 744=<O. 

 

4. %>>D>EFL F5G5=<O EF>>>6 6 >4=4?<74F<>==>= E5F< 4>?6=4 5OFL: 

4) =5 <5=55 E4<>>G<M4NM5= 

5) =5 5>?55 0,7 </E 

6) ?D><76>?L=>= 

7) D46=><5D=>= 

5. �D< ?D>5>F<D>64=<< >F>??5=<O F5<?5D4FGD4 =4DG6=>7> 6>74GE4 

?D<=<<45FEO D46=>=: 

 

4) t5 (=4<5>?55 E>?>4=>= ?OF<4=56><) 

5)  tEE (=4<5>?55 E>?>4=OE EGF>>) 

6)  tmin (45E>?NF=4O <<=<<4?L=4O F5<?5D4FGD4 =4DG6=>7> 6>74GE4) 

7) t>F.?. (F5<?5D4FGD4 >F>?<F5?L=>7> ?5D<>44) 

V. $5>><5=4G5<4O ?<F5D4FGD4 

1 $4745?. 

1. &5??>F5E=<>4: GG55=<>. / �>4 D54. B.�. �G>4=<=4.- �.: BOEL. L>., - 2005. - 

671E. (1-14). 

2. &<E><<D>6 �.B., %5D755=>> -.%. &5??>F5E=<>4, F5??>747>E=4565=<5 < 

65=F<?OF<O. 3 �.: %FD>=<744F, 1991. 3 480 E. (16-17, 20). 
3. �5?O7<= �.�. &5??>75=5D<DGNM<5 GEF4=>6><: GG55=<>. 3 �.: �4EF5F, 2010. - 

622 E. (15). 

4. %>>>?>6 �./. &5??>D<>4F<O < F5??>6O5 E5F<.- �.: -=5D7><744F, 2001 7. - 

472 E. (19-20) 

5. �>=<= �.� < 4D. �47>E=4565=<5: GG55=<>: D5>. '�� / ?>4 >5M. D54. B. �. 

�<?O. - �. : �%B, 2011 . - 470 E. (18- 20). 
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6. %� 7.13130.2013. �F>??5=<5, 65=F<?OF<O < >>=4<F<>=<D>64=<5. 

�D>F<6>?>64D=O5 FD55>64=<O. 3 B654. 2009303325. 3 �. : $�' B����� �'% 

$>EE<<, 2009. 3 33 E. (19). 

7. %F4E>56<G �.�., %565D<=5F �.�. B<74>DG<> �./. %?D46>G=<> ?> 

747>E=4565=<N < <E?>?L7>64=<N 7474.- �.: �54D4, 1990. - 762E. (19-20). 

2 $4745?. 

8. %� 31.13330.2012* B>4>E=4565=<5. �4DG6=O5 E5F< < E>>DG65=<O. �>D<O 

?D>5>F<D>64=<O. �>FG4?<7<D>64==4O 65DE<O %�<� 2.04.02-84*. - �.: %FD>=<744F, 

131E. (6-11). 

9. %� 32.13330.2012* �4=4?<74F<O. �4DG6=O5 E5F< < E>>DG65=<O. �>D<O 

?D>5>F<D>64=<O. �>FG4?<7<D>64==4O 65DE<O %�<� 2.04.03-85. - �.: �'� &��, 

141E. (12-20). 

10. %� 30.13330.2016 B=GFD5==<= 6>4>?D>6>4 < >4=4?<74F<O 744=<=. 

�>FG4?<7<D>64==4O %�<� 2.04.01-85*. - �.: �'� &��, 60E. (7-11). 

11. '4>6<= B.�. �<4D46?<>4 [-?5>FD>==O= D5EGDE]: GG55=>5 ?>E>5<5 / B.�. 

'4>6<=, �.�. �45=54E. 4 -?5>FD>=. F5>EF>6O5 44==O5. 4 �D5=5GD7: 

�D5=5GD7E><= 7>EG44DEF65==O= G=<65DE<F5F, -�% �%B, 2014. 4 132 c. 4 2227- 

8397. (1-3). 

12. �4?<FG= B. �. �<4D46?<>4, 6>4>E=4565=<5 < >4=4?<74F<O. 'G55=>5 

?>E>5<5 4?O 6G7>6/ �4?<FG= B. �., �54D>6 B. %., �4E>>6 .. �. 3 4-5 <744=<5 

?5D5D45. � 4>?. - �. %FD>=<744F. 2004 3 396E. (1-4, 12-20). 

13. %F4D>65D>6 %.B. B>4>E=4565=<5 ?D><OL?5==OE ?D54?D<OF<= 

[-?5>FD>==O= D5EGDE] / %.B. %F4D>65D>6, B.�. �<D556. 4 -?5>FD>=. F5>EF>6O5 

44==O5. 4 �5?7>D>4: �5?7>D>4E><= 7>EG44DEF65==O= F5E=>?>7<G5E><= 

G=<65DE<F5F <<. B.�. ,GE>64, -�% �%B, 2012. 4 93 c. 4 2227-8397. (5). 

14. %� 8.13130.2009. %<EF5<4 ?D>F<6>?>64D=>= 74M<FO. �EF>G=<>< 

=4DG6=>7> ?D>F<6>?>64D=>7> 6>4>E=4565=<O. &D55>64=<O ?>64D=>= 

557>?4E=>EF<. 3 B654. 2009303325. 3 �. : $�' B����� �'% $>EE<<, 2009. 3 20 E. 

(6). 

15. %� 10.13130.2009. %<EF5<4 ?D>F<6>?>64D=>= 74M<FO. B=GFD5==<= 

?D>F<6>?>64D=O= 6>4>?D>6>4. &D55>64=<O ?>64D=>= 557>?4E=>EF<. 3 B654. 20093

03325. 3 �. : $�' B����� �'% $>EE<<, 2009. 3 13 E. (8). 

 

3 $4745?. 
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16. &.�. �4>?4>>64, %.�. �4=4E>64, B.�. ,4D?5=>>, �.�. �4?4><=4. 

�DE<F5>FGD4. 3 �.: <744F5?LEF6> �%B, 2012 - 464E. (1). 

17. �4>?4>>64 &.�., �4=4E>64 %.�. �>=EFDG>F<< 7D4644=E><E 744=<=, 

'G55=<>. -�.: <744F5?LEF6> �%B, 2011 3 296E. (1). 

19. %47>=>6 -.B. B5=F<?OF<O: F5>D5F<G5E><5 >E=>6O D4EG5F4 / GG55. ?>E>5<5 

// -.B. %47>=>6. 3 �>E>64: .D4=F, 2017. 3 206 E. (11,18). 

20. �E=>6O M>>?>7<G5E>>= 557>?4E=>EF< < M>E??G4F4F<< 744=<=, E>>DG65=<= 

< <=65=5D=OE E<EF5< / GG55. ?>E>5<5 // �.�. %>DO?=<>, %.�. /D5<5=>>, �.B. 

,4L<=. 3 B>D>=56E><= ��%'. 3 B>D>=56, 2013. 3 70 E. (16-18). 

21. �=65=5D=O5 E<EF5<O 744=<= < E>>DG65=<= / GG55. ?>E>5<5 // �.�. 

�>?>E<=, �.�. �>6>E5?LF56, B... %G7<=, �.�. �5D?O><=4. 3 �.: �744F5?LE><= 

F5=FD «�>445<<O», 2012. 3 298 E. (11,16-19). 

22. B>?>>6 �.�. �E=>6O ?D>5>F<D>64=<O, EFD><F5?LEF64, M>E??G4F4F<< 744=<= 

< E>>DG65=<= [-?5>FD>==O= D5EGDE]: GG55=>5 ?>E>5<5/ B>?>>6 �.�., &5?<G5=>> 

B.�., �5=5<4= �.�.3 -?5>FD>=. F5>EF>6O5 44==O5.4 �.: �>E>>6E><= 

7>EG44DEF65==O= EFD><F5?L=O= G=<65DE<F5F, -�% �%B, 2015.4 492 

c. (2, 4-15, 20). 

23. &5E=<G5E>4O M>E??G4F4F<O 6<?OE 744=<= / GG55=<> 4?O 6G7>6 : D5>. �� $$ 

/ ?>4 D54. B. �. $<<L<=4, �. �. %FD46=<>>64 3 3-5 <74., ?5D5D45. < 4>?. 3 �.: 

%FG45=F, 2012 3 639 E. (2-15, 20). 

24. &5E=<G5E>4O M>E??G4F4F<O, E>45D64=<5 < >5E?54>64=<5 >5N5>F>6 

=546<6<<>EF< [&5>EF] : GG55=>5 ?>E>5<5 / B>D>=56. 7>E. 4DE<F5>FGD.-EFD><F. G=-F. 

- B>D>=56 : [5. <.], 2013 (B>D>=56 : �F45? >?5D4F<6=>= ?>?<7D4D<< <74-64 GG55. 

?<F. < GG55.-<5F>4. ?>E>5<= B��%', 2013). 3 107 E. (3-15, 20). 


